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* Python/Lib/idlelib/idle.bat, %I import this

e Beautiful is better than ugly.
* Explicit is better than implicit. B | 4]
 Simple is better than complex.

PLRMET

5 2

fe] B e 5R

« Complex is better than complicated. E%& TR EL

e Sparse is better than dense.
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* Readability counts.
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* https://github.com/jcjohnson/neural-style
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B\ K Zinput([prompt])
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* In[1]): name=input("Please enter your name: ")
* Please enter your name: SY
* NameError: name 'SY' is not defined

* In[2]: name=input("Please enter your name: ")
* Please enter your name: 'SY'

* In[3]: name

* Out[3]: 'SY’

* In [4]: type(name)
* Out[4]: str
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In [5]: age=input("Please enter your age: ")
*Please enter your age: 18

In [6]: type(age)
*Out[6]: int




far

o far i pR & print()
e [F7. print(*object, sep=*’, end="\n’,

* file=sys.stdout)
* Python2.7 H:
 from _ future _ import print_function
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* In [12]: print("Hello", "World",
Sep="###",end='***l)

 Hello###World***

* In [13]: print("Hello", "World")
 Hello World
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* In [16]: price=55;item='banana’

* In [17]: "The %s costs %d cents" % (item,
price)
 Out[17]: 'The banana costs 55 cents’

* In [19]: "The %(item)s costs %(cost)7.1f
cents" % itemdict

e Out[19]: 'The banana costs 55.0 cents'



A

 open(name[,mode[,buffering]])
nameZ KN T BT H B FR, modese FT H A,
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* In[27]: f=open("D:\\test.txt", "w"
* In[28]: f.write("function write\n")
o >>>strList=["Hello\n", "World\n"]
« >>>f.writelines(strList)

* In[29]: f.close()

* In[30]: f=file("D:\\test.txt", "r")
. ...: f.readline()
* Out[30]: 'function write\n'

e In [31]: strList=f.readlines()

* In[32]: strList
* Out[31]: ['Hello\n', 'World\n']
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theSum

g— -0

Figure 3: Variables Hold References to Data Objects

theSum
— 1

True

Figure 4: Assignment Changes the Reference
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* In[59]: theSum=0

. et >>> theSum
 Out[59]:0
 In[60]: id(theSum)
 Out[60]: 38759504L

* In[61]: theSum=theSum+1
. et >>> theSum

« Out[6l]:1

* In[62]: id(theSum)
 Out[62]: 38759480L

* In[63]: theSum=True
. et >>> theSum

* Out[63]: True

* In[64]: id(theSum)

* Out[64]: 505971488L
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e VBH? ISH?

* In[66]: a=5

e ....isinstance(a,float)

 Out[66]: False

* In[67]: a=5
e ....isinstance(a,(float,int))

 Out[67]: True
D
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Operation Meaning

< strictly less than

& less than or equal

? strictly greater than

2= greater than or equal
= equal

= not equal

is object identity

is not negated object identity
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*a=5;b=5

‘In[51]:ais b

Out[51]: True (JEXE! )
°In [52]: a ==

*Out[52]: True

In [54]: c=5.0
In [55]: a==c
*Out[55]: True

*In[56]:aisc
*Out[56]: False
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« L4k, EK. AR K pythonXf RF 4.
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* In[72]:tup=4,5,6

- .... tUp

 Out[72]: (4, 5, 6)

* In[73]: nested_tup =(4, 5, 6), (7, 8)
e ....nested tup
* Out[73]: ((4, 5, 6), (7, 8))
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*In [74]: tuple([4, O, 2])
*Out[74]: (4, 0, 2)

°In [75]: tuple('string’)
*Out[75]: ('s', 't", 'r", 'i", 'n’, 'g')
PythonFT #: REFARIRFZHRRE.
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*tup = tuple(['foo’, [1, 2], True])
*tup[2] = False

*tup[1].append(3)

545 ] AANAT B

(4, None, 'foo') + (6, 0) + ('bar’,)
('foo’, 'bar') * 4
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eIn [76]: tup = 4, 5, (6, 7)

e ...:a,b,(c,d)=tup
e ...d

*Out[76]: 7
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* In[77]: tup = ('foo’, 'bar’, 'baz')
e ....b_list = list(tup)

e ... b _listf1l] =33

e ....b_list

 Out[77]: ['foo’, 33 'baz']




kS

* In[81]:seq=[7,2,3,7,5,6,0, 1]
.... seq[1:5]
 Out[81]:[2, 3, 7, 5]

* In [82]: seq[:5]
... seq[3:]
* Out[82]:[7,5,6,0, 1]

o —PITWHIBIF
* In[83]:seq[::-1] (HIHEZE-2)
 Out[83]:[1,0,6,5,7,3,2,7]
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o JIERABSLH T VFZ TS, BT REBEEST, TR
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* alist.append(item): TEAIZERKEISII—

e alist.insert(i, item): TEFFRPIFEANL E AN — I

o alist.pop(): F2FR IR [FIH1) 3R 1) 6 Jg — T

o alist.pop(i): FZERFIR A1 51K ) 5500

e alist.sort(): XTARFFATHEF

e alist.reverse(): x¥:%|F%

e alist.index(item): R [AIF|ZFRH FH—PE T item T &R 5l
e alist.count(item): R [EIF|FRFH Z/DIFIEE T item
* alist.remove(item): MHBRFIZE 2B —MEEE T item ]I
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* In[77]:b_list=['foo’, 'peekaboo’, 'baz’]

* In[78]: b_list.append('dwarf')
. ... b_list
 Out[78]: ['foo’, 'peekaboo’, 'baz’, 'dwarf']

* In[79]: b_list.insert(1, 'red’)
. .... b_list
 Out[79]: ['foo', 'red’, 'peekaboo’, 'baz’, 'dwarf’]

* In[80]: 'dwarf' in b_list
e Out[80]: True
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* In[99]: set([2, 2, 2, 1, 3, 3])
 Out[99]: {1, 2, 3}

 In[101]: {1,2,3}==4{3,2,2,1}
e Out[101]: True




-
£5

. ELHRAE

« in: A — PR EGEEENW
|- R [BIB R AR

o &: IR[FIPNESASEE

e - IR

o« <=: HAWIE - NESRO NG - PESH

a5

[

A



£e

AP

* union(otherset): [A]“|”#E/E

* intersection(otherset): [f]“&”#E/F
e difference(otherset): [A]“-"#:1F

* insubset(otherset): [A]“<="#2/F

e add(item): ¥NiI0—~I0

e remove(item): FEFFE—1I0

* pop(): EEMFE—1NITHR

e clear(): BT AICE
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* In[103]:a={1,2,3,4,5};b={3,4,5,6,7, 8}

 In[104]: a|b
 Out[104):{1,2,3,4,5,6,7, 8}

* In[105]: a&b
e Out[105]: {3, 4, 5}

 In[106]: a-b
e Out[106]: {1, 2}

* In[107]: a"b
 Out[107]:{1, 2,6, 7, 8}

* In[108]: a.union(b)
 0Out[108]:{1, 2,3,4,5,6, 7, 8}
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* In[113]: a.add(4)

* In[114]: a
. Out[114]: {1, 2, 3, 4, 5}

* In [115]: a.remove(4)

* In[116]: a
 Out[116]:{1, 2, 3, 5}
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(associative array)
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* In [119]: empty_dict = {}
¢« ..dl={a':'somevalue','b':[1,2,3, 4]}
- .... d1[7] = 'an integer’

« In[120]: d1

 Out[120]: {7: 'an integer’, 'a’: 'some value’, 'b": [1, 2,
3, 4]}

 In[121]: 'an integer' in d1
e Out[121]: False

* In[122]:'b'in d1l
 Out[122]: True



- JLFEEHAlsti T, [FiT
ST

A [

e keys():
e values(): X
e items(): X

None

e get(k, alt):
1 [A]alt
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* In[132]): c="""

* In[133]:c

e Out[133]: '\nThis is a longer string that\nspans
multiple lines\n'

1

S string 2 01N BICE 22 ST BT I A 4%

, ARG s, WA LLEX G s,

, ZITRRE=E

25 5.

.... This is a longer string that
.... spans multiple lines
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s FREWERTHOKNTE
 aStr.center(w): RFEI—NFEFFE, wKE, FREMEEF
e aStr.count(item): IR [A]JJRFFFER A H Bilitem 1 IR 2K
o aStr.ljust(w): R[Fl—NFRFE, wKE, BARHEL
o aStr.rjust(w): RE—NFERFE, wiKBE, RFEMEEL
e aStrlower(): R[E—NFRFEH, 2EHNE
e aStr.upper(): R[FE—NFRFE, EHRE
e aStr.find(item): Zifitem, IR[A|IZE—PNILEEHIZR 5| HLE
e aStr.split(schar): PAlschar A FafRr, FFIRFZLFE 2 E], R[F—

iES

« M2E. aStr.replace(old, new[, count])
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* In[134]: a ="this is a string'

. .... b = a.replace('string’, 'longer string')
. ... b

e Qut[134]: 'this is a longer string’

* In[139]: a.split('i’)
* Out[139]:['th','s', 's a str', 'ng']

* In [140]: a.split('is')
 Out[140]: ['th','’, ' a string']

« B, a[3]=‘¢
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e EnumerateH TEIREE LRI ARG, F24ER]

i JLAT DU AL 7 4
* In [174]: some_list = ['foo’, 'bar’, 'baz’]
e ....mapping = dict(enumerate(some_list))

* In[175]: mapping
 Out[175]: {0: 'foo’, 1: 'bar’, 2: 'baz'}
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o Sorted ] LUBATAR 7 413k [B]oy— N F 751K
e In[177]: sorted([7, 1, 2, 6, O, 3, 2])
 Out[178]:[0, 1, 2, 2, 3, 6, 7]

o R iXIEé::’ﬁ/A:

* In[177]: sorted(set('this is just some string'))

° OUt[177] [ll ] Ig’lhl ll’ IJI’ lml lnl lol lrl lsl’
l ] l]
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ZipFH TR 2P H AT e, A RBotd )R, Wa] DLgk T
P o3 5 KBOXT
In [179]: seql = ['foo’, 'bar’, 'baz']

.... seq2 = ['one’, 'two’, 'three']

...: Zip(seql, seq2)

Out[179]: [('foo’, 'one’), ('bar’, 'two'), ('baz’, 'three')]

In [181]: pitchers = [('Nolan’, 'Ryan’), ('Roger’, 'Clemens’),
... ('Schilling’, 'Curt’')]
.... first_names, last_names = zip(*pitchers)
...: first_names

Out[181]: ('Nolan’, 'Roger’, 'Schilling')
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» Reversed T WP FAIHHIICE:

* In [182]: list(reversed(range(10)))
 Out[182]:]9,8,7,6,5,4,3,2,1,0]
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FFEEH

BlfZ: CiEE Hiffllelse if
In [143]: score = 33

In [145]: if score >=90:

. print('A')
. ...: elif score >=80:

. print('B')

. ...: elif score >=70:

. print('C')

. ...: elif score >= 60:

. print('D')
. ...: else:

. print('F')

F
.« ER4aEEEIE]
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 Python ¥ F switch-case 4 14

 PythonH' 1) = H#ERT

e XifCelse YN TCESHHIC?X:Y, HELF
EAMNE N BIE S S5

e x=3if4>=3else 4
° X
 Out[148]: 3
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7.: CiESfor(inti=0;i<n;i++)

e forid &) FH T [ — Al AN BRI A,
AR . Fr55H %

o foriBm)&5Mun , Eandg|H AEH !

 for item in collection:
o HARBICIEF WL N: foriin range(n)

e While, continue, break/H{ZEFMCIES=E —F

A

T
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* range()H T =4 — 8] b5~ 12 IR #2255
o xrange()H [FIFERITIRE, RAaATser=4ra e,
I THUE B KRB .
e Forizti A 1EFCH Hfor
* In[146]: wordlist = ['cat’,'dog’,'rabbit’]
. ... letterlist =[]

. for aword in wordlist:

. for aletter in aword:

. letterlist.append(aletter)

. ... letterlist

 Out[146]:['c', 'd’,'t", 'd', 'o', 'g', 'r', 'a’, 'b’, 'b’, 'i', 't']
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o WNUMENTIS, AT HEHMER . TS, KM E5FE
5 2R YE 2 — A g

o FIRESH: [FRAEZ + foriEh] +(ifiEH])]

o BRSBTS R IE XS R FHE I B 51 2= H

.... [x.upper() for x in strings if len(x) > 2]
Out[149]: ['BAT', 'CAR', 'DOVE', 'PYTHON']

* In[150]: unique_lengths = {len(x) for x in strings}

.... unique_lengths
e Out[150]:{1, 2, 3, 4, 6}
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* PythonlJEREE X 75 B def” Rt F, —
R A, —HSE, —PEREUE, FEnlge
R [BE

e def function(paral, para2, ...):

return ...
o —Hreturn, NIEkH ZREAE, J5I1HP)1E R
KA BHAT
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* In[151]: def my_function(x, y, z=1.5):

. ifz>1:

. returnz * (x +y)
. else:

. returnz / (x +vy)

* In[152]: my_function(5, 6, z=0.7)
* Out[152]: 0.06363636363636363

* In[153]: my_function(3.14, 7, 3.5)
* Out[153]: 35.49
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o RFEFZA IWidfunc(*args, **kwargs)iX ¥ ] 2
BOE X, IXA*H** LR N RS
« NI RS EEEFM, BRI,
i 2T A python 1 BREL S B IR AL
« Hit, WS
e def funcC(a, b=0):
print a
print b
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o HIR, WA ES

* In [158]: def funcD(a, b, *c):

. print (a)

. print (b)

. print ("length of c is: %d " % len(c))
. print (c)

* In[159]: funcD(1, 2, 3, 4, 5, 6)
e 1

¢ 2

* length of cis: 4

* (3,4,5,6)
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o IR, MNEZHNKETSH:
* In[161]: def funcE(a, b, c):

. ... print (3)
. ... print (b)
. ...: print (c)

« In [162]: funcE(100, 99, 98)
.« 100

. 99

. 98

* In[163]: funcE(100, c=98, b=99)
« 100

e 99

- 98
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* In [165]: def funcF(a, **b):
e ...print(a)
. ... forxinb:
o .print(x+":" +str(b[x]))

* In [166]: funcF(100, c="hello’', b=200)
100

e c: hello
 b: 200
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o RETREKEASHB FHRAR, HEA
Wi VR 1 fEHATT

e Lambdarfi#, ML, currying, A R%es
o ‘ERliEE, itertools
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5 RAY
e 1. NameError: Zik15 ] — AR H A &
>>> v

2. ZeroDivisionError: 5% A0
>>>v=1/0

3. SyntaxError: i&VEEE R
>>> int int

4. IndexError: Z=5|#H o
>>> List = [2]
>>> List[3]

5. KeyError: LIS FZAAFLE
>>> Dic = {'1":'yes', '2":'no'}
>>> Dic['3']
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* 6. IOError: Hi N%iH 4 ix
>>> f = open('abc')

o 7. AttributeError: U7 AREINT %8 4

>>> dictl.reverse()

e 8. ValueError: ZU{H4 %
>>> int(‘d’)
ValueError: invalid literal for int() with base 10: ‘d’

e 9. TypeError: ZEHIGE R
>>> iStr="22’ >>> iVal = 22
>>> obj = iStr + iVal,

e 10. AssertionError: =457
>>>assert11=1
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fifi Htry-excepti @), FRATAT PAXS %8 4T Ab P

‘i%ﬁé:nk*@:

try:

# ] RE A R TR A
except:

# Y R AR I AT R A
else:

Htry BT I AR S AT
finally:

HIC IR WA AR FHAT
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* f=open(path, 'w

° try:

e write_to_file(f)
e except:

e print 'Failed’

e else:

 print 'Succeeded’
* finally:

e f.close()
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« A LM¥ Hraiseifif) B Sl 5

» class ResultError(IOError): pass

* if score>90:
. raise ResultError('Can\'t be that good!')

* else:

. print(score)

* ResultError Traceback (most recent call last)
e <ipython-input-173-951814d5b258> in <module>()

. 1 if score>90:

e -—-->2 raise ResultError('Can\'t be that good!')

. 3 else:

. 4  print(score)

e ResultError: Can't be that good!
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